oNIANY 1D EEEIEWONLAVY]S GORLEIN SNIdhgS QOH L34y
W Ny
qon? b1

& #5175 2 3 2

a.

OK-VISE BK2-VT-B DK2-VT-B ...

r— = |
=y



= ISR st S |

CLAMPING UNIT

1515952 BT
B

BENNIFE—EXERERIZENH MR
BOK-VISEBIRE A HRIFEDBEHRZTSES
m o JIt RESEMUL—BR -

B =R TEA R
IEFFeLtRBE

IV 3h & F OK-VISE

FEIDRYAEEY o

{£ FOK-VISER S B R EF B RIS IR
x o

fEF OK-VISE 815 B2k $H » BB
mEMEARAMBEERE - LEIERE
BENRAMEREEENESE -

9-1 ok-vise



=)

OK-VISE [F-lo=tiospcbs:|

CLAMPING UNIT

ESE e
ERERATHEARENETHS - SERE
RIS » ESWIRR TR HEE TR
B o

NEET AR
AT HOERNEET - TERSHIR TR
B - IS THERR AR -

i.- >

LplliEEpSss
FESRSHAEMTE P/ EIRH (VB) - ISR
BEREERINS @I - TEEDIT
REMARR ©

FeemIEsH
AR EP AR BB E GRS
B - bR S REA AN - EARKRERE
O -

TEssH

HIRAEAELF EB MEHIGMRBINIER - &

B E A -

BN
ESELSHOINER ISR - IS TR
AR - BUETRIITEIm » BATZESm -

BEsRE R

IR R BB EARINEEN B HIKIFAT - B
IREYREREFCE OISR - 1B BBHIE
fREE - TEREOMIRESDFETNEFR - Wt—
3R » NRAFZHIZRRMEEBRINL ©

-
o
Q‘E-

%

&
py

e RS

WFRRERETBBREE - BREIOAE - 1
HitER—REEHERREIAEE - BULRE
SPREBAE - IAMER IR RIEVRN
(AK2-VT-S0) -

BPAS

2l

SVE

ALY

L by

o Al

Lo
1

oKk-visE  9-2



LEAVE INDUSTRIAL . .®
OK-VISE B-15i=t sk s o
CLAMPING UNIT

W EEHT R
Q 6 L 60 4 W 5 5 B AR~ P MR 2 7 88T B 0 R B0
B N WEE - MERKESRELSBARBELNKS -
3 FEFETN-ENRTSAREREMEEN —RTH
- k1
f, = 7

=@ ERARKRELNR - RYK/) - EEEANFREER
HTIFFEeNBEERRGMERERLE !

AK2-VT-SOB E{EFAVITON ORIE » BBRIIMTIKIEEKRE
fic —fig I8 -

S ELR EESR

A . WFA | HEE | ANEER | TNEE
B® gilma=|mx| 2| C|°|FE|8®%® “wn) |(Nm)| (ka) | HRC

AK2-VT-SO | 20 23 25 |22 | 11 | 15 [ 4.2 | M5Ex25 10 10 0.022 48-52

9-3 ok-visE



A W) | HEE | ANEE | MNEE
B® gnimaz|mx| 2| C|P|E|F |BRRR "GNy (Nm) | (a) | HRC
BK2-VT 27 29 31 29| 15| 211 2.5 1 M 8x20 25 44 0.055 48-52
DK2-VT 42 45 49 411 22 | 30 (4.0 2 | M12x30 65 145 0.180 48-52
FK2-VT 57 61 65 56 | 29 | 42 (5.0, 3 | M16x40| 110 360 0.465 48-52

7 BEHOREE R TFE

BOSEUSR#I0"-S" » 90 BK2-VT-S

A : TS | 4096 | ANER | MEE
B anlmamlmx| S| C || P |5 |F | BE®® "N | ()| ka) | HRC
DK2-WT | 42 46 49 | 41|36 | 30| 30| 5 2 | M12x40 90 145 0.275 48-52
FK2-WT | 58 61 66 56 |50 | 42| 42| 5 3 | M16x60| 150 360 0.730 48-52

& BEHORBE  aRTFE

B RYSR & N0 -S" » 40 DK2-WT-S

.

ey
A e
i e
L i

g
——

FFARESR
7 51

o o

[==4uTs]

EDMBEV¥ 5 RL M85 -

TERFFHEREE TR MEB D - ERE LS
BIEIDDE » AEBK2-VINARMAME » ERRIRER

2l

SVE

ALY

A s WiFA) | HEE | ANER | MNEE
B o8 2) [mex| Bx B|C|D|E | F |ERSH &N) | (Nm) |~ (kg) HRC
BK2-VT+3 | 33 35 37 |29 (15|21 |25| 1 | M 8x20 22 43 0.070 30-34
DK2-VT+5 | 52 55 59 |41 (22|30 4.0 2 | M12x30 55 145 0.235 30-34
FK2-VT+5 | 67 70 75 | 56|29 |4250] 3 | M16x40| 100 | 360 0.550 30-34
af : FRBK2-VT+3 RFHEEON » HBRIDEF - 8HLZS
ok-visE Q-4



OK-VISE 5 Vit dko
CLAMPING UNIT

BHES | SEEE| G | 6 | 6
e (2 ©1) |®)|mEE BA

BK2-VT-B M12 8.5 .2 19.5( 20.5 | 21.5

DK2-VT-B M16 12.0 10.7 31.0| 32.5 | 34.5

A WiFH | BEE | AWER | XTHVEE | YRR

RE® rpnlmamlmx| S| C|P|5|F|C| B "wn) |(Nm)| (ke) | HRC HRC

BK2-VT-B| 33 35 37 |29/15|21(2.5( 1| 3 | M 8x20 22 43 0.064 30-34 48-52
DK2-VT-B| 52 55 59 [41/22|30(4.0/ 2 [ 5 | M12x30 55 145 0.212 30-34 48-52

L= -

o

- K
"\ . H -L
L e | OK-YISE || e T ¥

g H-(—L Irb - I @ A '
/1T i ke

TE

A RSN | B | ANER | MOEE
BK2-VT-T | 33 35 37 |209|16(21(2.5] 1 7.5112| - |4xM5| M 8x20 22 43 0.060 30-34
DK2-VT-T | 46 49 53 |41|22|30(4.0| 2 | 11.0 18|28 | 4xM5| M12x30 55 145 0.200 30-34
FK2-VT-T | 61 65 70 |[56|29|42(5.0)1 3 |14.5|26 |40 | 4xM5| M16x40 100 360 0.480 30-34

& EREMEES 8.8 LB

9.5 ok-vise



OK-VISE [F-lo=tiospcbs:|

EaE EIHI T

CLAMPING UNIT

A
. 57 | 186 | ANER | MEE
2® gonlma=|mx|°|C|°|F BRI | ") | (Nm) | (kg) | HRC
BK2-VT-PD | 27 29 31 29 | 22 | 21 7 M8x20 25 44 68 48-52
A
of
o
C—
A . W5 | IS | AWER | MNEE
e e (ma=|mx| °|¢|°|F BRRE | “n) | (Nm) | (k@) | HRC
DK2-VT-PD | 42 45 49 41 | 32 | 30 | 10 M12x60 65 145 270 48-52

8 %57 | 1895 | ANER | MOEE
3w BBl Bx R RS S B (kN) | (Nm) | (kg) HRC
FK2-VT-PD | 57 | 61 65 | 56 | 40.5| 42 [11.5 M16x60 | 110 | 360 620 48-52

rir

rJ)

2l

ALY

ML EES

Syl

oKk-VISE 9.5



OK-VISE E-io-t ispcs::)

CLAMPING UNIT

LEAVE INDUSTRIAL . .®
LEATE

OK-VISEN:FHFE%E :
R ¥ A B D D(inch) F
BE BK2-VT DK2-VT DK2-VTI FK2-VT
TEi BK2-VT-S | DK2-VT-S |DK2-VTI-S | FK2-VT-S
g IRy BK2-VT+3 | DK2-VT+5 |DK2-VTI+5 | FK2-VT+5
FieE#HO BK2-VT+3S | DK2-VT+5S | DK2-VTI+5S| FK2-VT+53
M D0ER MEY BK2-VT-T | DK2-VT-T |DK2-VTI-T | FK2-VT-T
B D0ER TS /B E#EDO BK2-VT-TS | DK2-VT-TS | DK2-VTI-TS | FK2-VT-TS
BEiaEE BK2-VT-B | DK2-VT-B | DK2-VTI-B
L EISEIEREE BK2-VT-E | DK2-VT-E | DK2-VTI-E
B, TE > &\ BK2-VT-PD | DK2-VT-PD | DK2-VTI-PD | FK2-VT-PD
wiR, TEX 58 DK2-WT DK2-WTI FK2-WT
€2, TEX - FE DK2-WT-S |DK2-WTI-S | FK2-WT-S
N i BK2-VT-SS
B (SE) BK2-VT-O
SR () AK2-VT-SO | BK2-VT-SO
NG M5 M8 M12 M16
TS 3/16" 5/16” 1/27 5/8”
#qE 10 25 90 90 150
OK-VISE 7§51
OK-VISE F&EHAVH DR RFF N E RS E
160
— AKZ2-VT-SO
140 -+
— BK2-VT
s BK2-VT+3 120 ——— - — e
. DK 2-VT S0
- = DK2-VT+5
DK2-WT z %0
=
— FK2:VT w0
- == FK2-VT+5
40
FK2-WT
20
0

-20

9-7 ok-visE

10 30 50 70 90 110 130

M (Nm)

150 170 190 210 230 250 270 290 310 330 350 370 390




